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e Please check that this question paper contains 25 printed pages +1 Map.

e Please check that this question paper contains 37 questions.

e Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please write down the serial number of the question in the answer-book

before attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m.,
the students will read the question paper only and will not write any
answer on the answer-book during this period.
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THT=T 7597 :

(i) 3T IP7-Y7 4 37 J97 & | @4t Io7 SAHard & |

(i) Y¥7-97 B: GUS] § [q91f5a 8- @Us &, &, T, &, FTT o |

(iii) TS & — 7 Gl 1 & 20 FgIaHcH1T JHR & J97 & | Jodeh J97 1 37% %7 & |

(iv) TUE T - ¥97 G&I7 21 T 24 377 TG-IFIT JHR & 97 & | Fed% 97 2 371 I
& | 37 J991 %7 I 40 Js5] T 37fe T571 [o7@r 7 F1i5v |

(v) TG T— F97 J&I7 25 G 29 TY-IFT FHR & J97 & | Jo9% 97 3 371 F1 & |
57 Y991 &7 397 60 Jec] G 37erm 81 ferar s Fiew |

(i) @WIZTT — J97 &I 30 T 33 J4-FRIT IHK & J97 & | I J97 5 37h] #7 & |
57 Y971 7 3¢ 120 Veg] @ 37ferF &7 Ior@r ST Fzy |

(i) WIS F - Y97 T&IT 34 T 36 HT-TENRAT/FId-3eRT I97 8 for7d 7 39-397 & |
Y% 974 37 FT 8 |

(viii) TUE o - 97 G&IT 37 HI7I=7 HIVA- 3T 397 & forad & 91 & - 87 (a) 3iazra
(2 37%) 3R 37(b) — YT (3 37%F) | 39 Jo7 & FT 5 3P & |

(ix) 5GP SaRkE, & 3 19 Gieanea WemdEl & o7g Biel aI7 FHiaa 371 e
o1 & T R TF 3 J97 1697 731 & | 579 Fe1 & I et grecanga gierd &
ford |

QUE &
(agfarehedta T9) (20%x1=20)

1. ‘Sra fgu fo=rg gonelt Ffafea @ @ foem o9 o v=ifora g 2 1
(A) dfHeHTg (B) ufvem &
(C) THEH™ (D) 3ifesm
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(ii)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A - Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 8 marks. Answer to these questions should not exceed
120 words.

Section E — Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)

In which one of the following states is ‘bamboo drip irrigation system’

prevalent ? 1
(A) Tamil Nadu (B) West Bengal

(C) Meghalaya (D) Odisha
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2. T [ fiem @y 118 HifSe 3R g&t fompew o1 =@ Hifsu |
&y I &y IT
(1T 3T (7757
1. RIS a. T Y
ii. 5w wiEe b. 3TEH
ii.  gered c. IWES
iv. SlgaTe d. ufyaw s
farea :

(A)  i-a, ii-b, iii-c, iv-d
(B) i, ii-c, iii-b, iv-a
(C) 1i-¢, ii-b, 1ii-d, iv-a
(D) i-b, ii-c, iii-d, iv-a

3. f=h Tam &1 qfd & fofu @&l foshed 1 ==H shifST |

19d T o ARY U, SR Tigare YRR H SAE A |
‘TR i Ak IcHeRAT fE |

(A)  dfedr e

(B) wiged ol

) awets iR

(D)  hAEIHT et

4. TrafaRgq geTshi &t FegHius Ha 1 =afedm Hifve AR a8 fawed &1
A Il |

I. g3 U Rgarsa afufa =1 Teq
II. SfAATareT an gaehie

[II. S HCI gcamwig
IV. 3THgIN 3TEld bl 199 o]
ey ;

A LILIIL IV
B) ILIIV,III
©) LI IV,III
(D) I IV,II I
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2. Match Column I with Column II and choose the correct option. 1
Column I Column I1
(National Park) (State)
1. Kaziranga a. Madhya Pradesh
ii.  Jim Corbett b. Assam
iili.  Sunderbans c. Uttarakhand
iv. Bandhavgarh d. West Bengal
Options:

(A)  i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a
(D) i-b, ii-c, iii-d, iv-a
3. Choose the correct option to fill in the blank. 1
In the beginning of the 19t century, a girl married in a very
orthodox household wrote an autobiography called ‘Amar Jiban’.
(A) Pandita Ramabai
(B) Rashsundari Devi
(C)  Tarabai Shinde
(D) Kailashbashini Debi

4, Arrange the following events in chronological order and choose the
correct option. 1
I. Formation of Khilafat Committee in Bombay
II. Jallianwala Bagh Massacre
III. Bardoli Satyagraha
IV. Withdrawal of Non-Cooperation Movement
Options:
A) L ILII IV
B) I, I,IV,III
C) LILIV,III
(D) I, IV,II, I
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5. Tfafed # & SH-91 96 g6l 9Ra H 3991 qo1 wH "nt (e €<) H
fafay wmeEnett & omw fesnett o e ?

A) e
(B) 3918 gH
(C) g wd
(D) SH gd

6. 1815 H “ferzr wede’ bl Ael foeAferiad & o foreq <y oft 2

(A) IR S HeATE

(B) 3L WA
©) Tafamgem
(D) 3T 94 foemmeh

7. TCu U @@l W ® kO o AU @Al w AT AR @ fasheq H1 T
AT |

I d%

II. HEHR

III. H&HR Al
IV. =i

fareu .

(A)  Had 911
(B) whaat 119 III
(C) had 19 III
(D) wad [d IV

8. Ti=feiftga o @ fore & 1 WA © UsR | fe8ierl waiieres 2 2

(A) g
(B)  Tgdieh
(C) qdreh
(D) =gdeh
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5. Which one of the following religions emerged from eastern India and
spread in several directions through intersecting points on the ‘silk
routes’ ? 1

(A) Hinduism
(B)  Christianity
(C) Buddhism

(D) Jainism

6. Who among the following hosted the ‘Vienna Congress’ in 1815 ? 1
(A)  Chancellor Duke Metternich
(B)  Ernst Renan
(C) William I
(D)  Otto von Bismarck

7. Select the formal sources of credit from the given sources and choose the
correct option. 1

I. Bank

II. Moneylender
III.  Cooperatives
IV. Businessman
Options :

(A) OnlyIandII
(B)  Only II and III
(C) OnlyIand III
(D)  OnlyIand]IV

8. Which one of the following sectors has the highest share in employment
in India ? 1

(A) Primary

(B)  Secondary
(C)  Tertiary
(D) Quaternary
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9. fafafaa 4 9 w9-w Sefiewr’ & snfia g 2
(A) SHYR UL I FGHT

(B) SAUR AU sl BT
(C) =AMR g g8l e T {emor sheem
(D) %N W 3T, fafd 3o deH

10. = @ %A for e € | I fimeA (A) 3R RO (R) @ | 1 el i Uiy
3R TE faehed &1 =3F HIRT |
S7HYT (A) : T e far ot & o o9 ot sig=nies gat A
g
FRT(R) : Shl 8 %ol o o [0 KOMYR TR ORIy Swrmmal hl e
aedl 2 |

fareea :

(A)  (A) 3R (R) gH T&l § 3R (R), (A) N 98 =& 2 |

(B) (A) 3R (R) <HI T&l &, AfhT (R), (A) T wet == 77 2 |
(C) (A) TEl B, Ak (R) Terd 7 |

(D)  (A) T &, Al (R) Tl 2 |

11. T 31 8 7a § T FFEH 719 o HEHR 8§ I AT oA L W R ol 3,
ifeh 98 I8 9198 TR H H&H g aldl | IFTCH 91 98 deh H HH AN G W
O AT @ | 98 FR-HR AR FIEHR TR e QAT I RN FHAT 3 |

39 RO IIEAT H ek ohl YfHRRT T T8 =S JUH HHIIRId H & HH-AT & ?
(A) S Ush HghHl SRUETdT o ®9 H i hidl & |

(B) % =u-I ! feufa =1 glaarse s 2 |

(C) o awgett @1 3faa gM-ueH ghifead w2 |

(D) & foRET™ Rl RUI-ITA 9@ S=TdT 2 |
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9. Which one of the following is included in ‘liberalization’ ? 1
(A) Promoting trade barriers
(B) Removing trade barriers
(C)  Controlling the other country through trade

(D) Increasing import, export duty on goods

10. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Rural poor families are still dependent on informal
sources of credit.

Reason (R) : For obtaining loan from banks, collateral and special

documents are required.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.

11. In one of the small villages, a farmer borrows money from the village
moneylender at a high monthly interest rate but is not able to repay it
back. Next, he borrows it from a bank at a lower interest rate. Gradually
he earns and pays back the loan to the moneylender and the bank.

Which of the following best describes the role of the bank in this credit
situation ? 1

(A) The bank acts as a cooperative lender.
(B)  The bank facilitates a debt-trap situation.
(C)  The bank ensures a fair exchange of goods.

(D)  The bank saves the farmer from debt-trap.
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12. = @ e [ 9 IIfew w8 | gFT oAl ol ufeu TR O&t fashew &1 ==[
Hifrg |

Fg7]: Hlgan A9 fafie sagml § |ishd &9 T AEH ¢ Tl 8 TR i,
SRR, Jehicl, Tegeh a1 favafaener fiems &t i far &
g |
FYTI] : Afeh fIueH h ToHifae TeaRe 3R ToHIfde  Midsel o
. TSt Sitae o Afgerel s et =i se | dgrRdT i 2 |
o

(A) SIS g, Al II Ted 2 |

(B) I 1 7d 7, Afehd II T8t 8 |

(C) YA 19 I1QHI F8l & 3R I, 1 h &l A& 2 |

(D) @ 19 II gH1 98l &, fehd 11, I =hl T&! e 787 8 |

13. YRd % HA9H o AR TlaiRad § & H-H Teh TIHT 9T 8 ?

(A) =g

(B)  TrgaTdl
(C) et
(D) TSEAT

14. = 3w fow mw E | 3 afiered (A) 3R FRO (R) § | T el Wi dfee
3R TE faercd =1 ==—A hIfY |
BT (A) : WA H TEEHIE SHEAT hl HIAR 2 |
PRU(R)  : J§ WA <hl A GroTiord 3R Hiifers fommarstt @l @de = 4§

Tem 7 |
f&refeu
(A)  (A) 3T (R) AT T& B 3 (R), (A) T T <A1 R |
(B) (A) 3R (R) g1 & &, AR (R), (A) H TE = 787 2 |
C) (A) T 7, AR (R) Tid & |
(D) (A) Tdd &, i (R) T&1 2 |

15. YRA o YAE AN J THIfdh Cal o FOR o fog Ffaiad § & sH-d1
HeH ISHT ?
(A) TA-9GA hl Uk o Tore dfaa™ e fora |
(B) IWIGARI I AYY-TF o GRI T HHAT T ST AT BAT |
(C) Inficani ! I9Y-TF < GIRT AU Fufd 1 ST T EAT |
(D) |} Gl ! AATSH AT HUAT 3T TR e WL AHarR &1 T |
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12.

Two statements, I and II are given below. Read both the statements and
choose the correct option. 1

Statement I : Women are now actively contributing to various
professions including roles as doctors, engineers, lawyers,
managers and university teachers.

Statement II : Political expression of gender division and political
mobilization helped to improve women’s role in public life.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.

13. Which one of the following is a scheduled language as per the
Constitution of India ? 1
(A)  Bhojpuri
(B) Garhwali
(C) Nepali
(D) Rajasthani
14. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1
Assertion (A) : Multi-party system has been adopted in India.
Reason (R) : It is capable of accommodating all the social and
geographical differences in India.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
15. Which one of the following steps has been taken by the Election
Commission of India to reform political parties ? 1
(A) Amended the Constitution to prevent defection.
(B) Candidates will have to give the details of criminal cases on
affidavit.
(C) Candidates will have to give details of their property on affidavit.
(D) It has been made mandatory for all parties to conduct
organizational elections and file income tax returns.
32/5/2-15 Page 11 of 27 P.T.O.
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16. feu wu fom = 2fgw | fom O forar o9 oo wr famfeifiad § @ g onfels
&k % ITdTd AT § 2 1
(A) Tt
(C) qdreh

Fig: [Efciiad 397 FacT gieeatiaa qhenaan & o0 397 G116 & &7 W& |
‘Gt sl Tt referaEen % ffafea § @ f5a & & o7l et B 2 1
(A)  wafie (B) fedtae
(C) qareh (D) <qIH

17. 9 gfoyd | gy 8 getug fefafga e = afer st g8
ferehed o1 = HIfT | 1

I. AT T 3 fopl oft o st Torehiy g 3Tfieer 781 foman 2 |
II. gfggm aft aient = fedl ot od o1 909 =9 3 J=9r & 6l

3TFSATET ST 2 |

III. Gfgam od & ur W fhu S el foreft @@ & Yguma &t Jarfies
YT T ? |

IV. 9% 9 9YgRl § a9Hal gHTad i o e e sl a1fide amai
# gEel 3 1 SARIHR T 2 |

fareeu :

(A) had [, 119 [II 58 3 |
B) Had L IITIVHE R |
(C) had LI IVEHS 7 |
(D) had ILIIT IVHS 2 |
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16.

Note :

Look at the given picture. The work being done in the picture comes
under which one of the following economic sectors ?

(A) Primary (B) Secondary

(C)  Tertiary (D) Quaternary
The following question is for the Visually Impaired Candidates only,

in lieu of Q. No. 16.
‘Floriculture’ comes under which one of the following sectors of the
economy ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary
17. Read the following provisions regarding Secularism in the Indian
Constitution and choose the correct option.
I. The Indian State has not adopted any religion as its official
religion.
I1. The Constitution gives freedom to all the citizens to practice and
propagate any religion.
III. The Constitution declares any kind of discrimination done on the
basis of religion to be legal.
IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious communities.
Options:
(A)  Only ]I, IT and III are correct.
(B)  Only I, IT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only II, IIT and IV are correct.
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18. WRA H fagrfl 1fisrl % dean o Fafd qod IUh fdehed i == HiT |
YRAT Gl 7 fava

(A) H9 R _ e @ i

B) T R SEEEOE

(C) Hwad Hq=H _ 9 EER

(D) Tl FE GiRe 9 AR

19. =@ @ % 19 IIfeu mw § | gHi Al i ufgu R @E fashed w1 =
HIT |

FIT] : T 1 ScdN AMhdIh FIEAT] o foTu dh 3 |

Ho7II : 396 Tafia ariore Tgl & &= Zohd shi GHEHT &l ®H i H
T fierdt B |

farey

(A)  HIT 1 TE g, Afeh 11 Teid & |

(B) Y 1 7d &, AT 11 T8 8 |
(C) Y19 II gHI Tal & IR II, I i T&l A 7 |
(D) 9919 I a1 981 8 Afhd 11, T shl &&t sarean 787 @ |

o o 0

20. fAfafga @ @ SH-91 YRG 1 o8 97 TR IdTH T § 2

(A)  HEISE (B) ¥NES
(C) TSI (D) 3temm
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18.

Choose the most appropriate option regarding the division of legislative

rights in India. 1

Subject list in Subjects

Indian Constitution

(A) Union List — Defence and Commerce

(B) State List — Police and Agriculture

(C) Concurrent List — Forest and Communication
(D) Residuary Subjects — Computer Software and Trade

19. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1
Statement I : Division of power is good for democratic systems.

Statement II : 1t helps to reduce the possibility of conflict between
social groups.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.

20. Which one of the following is the highest ‘bauxite’ producing state of
India ? 1
(A) Maharashtra (B) Jharkhand
(C)  Gujarat (D) Odisha

32/5/2-15 Page 15 of 27 P.T.O.
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Qus @
(arfa o1g-3wr o) (4x2=8)
21, Wl GG H AN AT | AR STHIERT 1 W T 2 T8 T | 2
22. JYERU Sl GHT SHH | g1 Td TR SEifieh! # faohe T ged s hd
@/l ? T Hi | 2
23. 5o uftye & a4 @1 3g@ HiNT | 2
24, (a) ‘9GS @ 3T qAT HEERT TgEl | fUed 8 17 3eer afgd 39
HIF hl STT HIWT | 2
AT
(b) “HrErEE S 4 ot fasmer gen § @RS ae S 2 17 3 afga 3@
HIF hl SATET HITT | 2
@UE T
(g3 weA) (5x3=15)
25. YNd hl GTcHS A IIEAT <hl fergl o9 feamrsarett <1 avia hifvw | 3
26. &l B g i fohal oI [IRINATAT T IO HITT | 3
27.  Ahad o TRUIMHT I SR o H TSHITTh Gl hl YR I favame Hife | 3
28. (a) WA T AQIAH H AR hi YHHT i TN Algd T
ST | 3
S DCI
(b) fiEdi yaTedl % F AR cleh HhArdl IR Jdiehl 4 TG & fa=R
i Tohe TehR Hared ol ? ISTETN Higd SRS Hifg | 3
29, HIAT o TR W Y6, A T fa@R U=l & foehmd 1 fagaivn HifSw | 3
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SECTION B
(Very Short Answer Type Questions) (4x2=8)

21. Why did people flee Europe for America in the nineteenth century ?
Explain. 2

22. How have the developments in information and communication

technology been the major factor to enable globalisation ? Explain. 2
23. Mention the formation of Zilla Parishad. 2

24. (a) “Minerals occur in igneous and metamorphic rocks.” Explain the
statement with example. 2

OR

(b)  “The ocean waters contain vast quantities of minerals.” Explain

the statement with example. 2
SECTION C

(Short Answer Type Questions) (6x3=15)
25. Describe any three characteristics of the Indian federal system. 3
26. Describe any three features of Rabi crop season. 3

27. Analyse the role of political parties in shaping the outcomes of
democracy. 3

28. (a) Explain the role of women in the Civil Disobedience Movement,
with examples. 3

OR

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the twentieth century ? Explain with
examples. 3

29. Analyse the development of Punjab, Kerala and Bihar states on the basis
of literacy. 3
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Qus Y
(S -z weT) (4x5=20)
30. (a) “UsgaTg i ygCl TS IAMeATh 1789 H HIEAET Hifd % €19 73 17 36
HYT T AR HIT | 5
AAAT
(b)  “1815 ® JUIferEA I B o oG JUNT TGN Higarg i W& ¥ Jid
off |” 38 oM I Yoo HIT | 5
31. (a) WAl AR TS i HF B H Alhdd hl Y(HehT h e Afed
ST hIfST | 5
3T
(b)  ATehdd TehH Tk Teh 9Y IMEF & 2 3TN Higd TI hifoT | 5
32. (a) “fafmio 3= oo & fawm@ 6 fc 998 9 2 17 38 HA9 Hl FFET
3aleq | 5
AAAT
(b)  “HfY Td ITUNT THGHEL & b 8 |7 9 HAT Sl =TI S80S | 5
33. (a) YRAN HewAT H JdIFh &A% o Haw ohl T HINT | 5
3T
(b) WA | USHR & He H rAfies &5 & IAeH sl e i | 5
Qus &
(hE-_STTeTia / |a - SATeTa 99-) (3x4=12)
34. feu U @q 1 ufew 3t SHes = feu U ywat & I dfSu
HEHT Arufaat 9 /o

Sepl o 3TcATaT UM & W TEd KU1 T Ush 3T |l TEehid AHfaal & |
TgHI i % TR U TETEHT l $S &1 § T o oI Thd i 8 |
3 YHR I gEhRl wiufaar va §, S8 - e, S wd it aegl
SATIG <hl TR AHITAT | ek Fgehi] HHId AFYL o IS¢ Th T1d H M
FHA B | 39h 2300 UM G B | I8 YN TEEN O THT TS SRl
g | 39 SMT ¢S Sl FROMYR AFd U, 39 TRl GHfd o o § I1 R0 9w
R 2 | 38 ISt o1 SWIUTA WS i el oF o o7 TRt SmaT 7 | Ag =W
I o &G sl sl GHU SR Y& oRAT ST Hehal 2 |
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SECTION D

(Long Answer Type Questions) (4x5=20)

“The first clear expression of nationalism came with the French
Revolution in 1789.” Evaluate the statement.

OR
“Following the defeat of Napoleon in 1815, European governments
were driven by a spirit of conservatism.” Evaluate the statement.

Explain with examples the role of democracy in the reduction of
inequality and poverty.

OR
How is democracy a legitimate government? Explain with
examples.

“Manufacturing sector is considered the backbone of development
of the country.” Justify the statement.

OR
“Agriculture and Industry move hand in hand.” Justify the
statement.

Examine the significance of the tertiary sector in the Indian
economy.

OR
Explain the contribution of the primary sector in the context of
employment in India.

SECTION E

(Case-Based/Source-Based Questions) (3x4=12)

Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas

are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives, industrial workers cooperatives, etc. Krishak Cooperative
functions in a village not very far away from Sonpur. It has 2300 farmers
as members. It accepts deposits from its members. With these deposits as
collateral, the Cooperative has obtained a large loan from the bank.
These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

32/5/2-15
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HWeh TR AT BV ITH G, Tl AT HY AR FHH, TSl Tehed,
T M IR A T YR o @@=l o T 0T GaA1 ! @ |

(34.1) ‘Fh TgHR! THAT 9 TG I RO YGH Hd o [T 99 hd

3qcey U 7 ? 1
(34.2) ‘P HERN FUET U7 TGHA HI fohd TR o U YgH L

g ? 1
(34.3) Ul wehR! wfufaal awfor &= & @ are & 2 2

35. fou U Eiq i ufeu 31k 3ues = feuw v ywi & I &S
BUTE WA TS

SFY ATTEeH @kl 9 1780 § 777 5 ATH% Ueh HTedligeh Uikl <hl
qared 3& fopan, e ge &1 3 afeariua foham, & fpet & Tofe 3ueisy T
qTeETReh g, St fhet & qura ® € 77 | Il a8 ulent wra § 39 =dW
et Aufafees s & oTeTe, foft sl 3em off, o 30 Irut waddt W
A ot | fEeh e 'R famram sar on S gt f fosht @ 2 svagr ot
YA o | ifehd 1Y & 98 YRA § HRAA J1sS T ARG T IS et
ol BIIAT AT | THY AT BIhL TR A IR g™ 7 fgdehl T geheHT
oo, oI U8 Trl ST-UT TN o YoM il Wcdligd T & L
fear ot Sfufafyes T 6 Bfa W Bd g9 A 3Th! @ W T | AINEd] Tl
o 37d dh h3-GR TH-IGHH BUA A | F© TegEarl Wt Hud sTEger BUd
Y | UH T B OUgAl o7 TS UHATET U9 o hidl @ TR YR gl
YHIRM F77c7 T7E |

(35.1) SFH AeY fEaehl g guifed el ‘g7 7o fohg wmwr ®

TG g8 ? 1
(35.2)  SFH TEeH Tgerehl T YehaHT FIT Tohal TIT ? 1
(35.3) 1780 % T o NI foh TWERI =hl WedTiad foham T 2 3% oA
Treatted femam mam 2 1+1=2
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35.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(34.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to

their members ? 1
(34.2) What are the different types of loans that ‘Krishak Cooperatives’

offer to their members ? 1
(34.3) Why are such cooperatives desirable in the rural areas ? 2

Read the given source and answer the questions that follow :
Print Comes to India

From 1780, James Augustus Hickey began to edit the Bengal Gazette,
a weekly magazine that described itself as ‘a commercial paper open to
all, but influenced by none’. So it was private English enterprise, proud of
its independence from colonial influence, that began English printing in
India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of
gossip about the Company’s senior officials in India. Enraged by this,
Governor-General Warren Hastings persecuted Hickey, and encouraged
the publication of officially sanctioned newspapers that could counter the
flow of information that damaged the image of the colonial government.
By the close of the eighteenth century, a number of newspapers and
journals appeared in print. There were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(35.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? 1

(35.2) Why was James Augustus Hickey persecuted ? 1

(35.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? 1+1=2
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36. feu u &g =1 ufeu i 3s Hfiw feu oyt & 3w difv

GETEAT T G0

AT TR W e qlieh o Y & $l ghlad 1968 T F&7a

3TH 07 9 hl | qUvET 1974 H IHE A U QAR I 59 SY2peT U 39
o w Ttefisf o g 1 T 9RO & wegfa 7 | 1987 § greedis SR
e grr afges T W F919" WAV § JATgR AFeE T o | 39 fue 3
‘Faa divviE faehE’ (Sustainable Development) 1 HeheddT Y& i 3R
1Y TIIUT hl Jehlaid <hl I%WWﬁ EHRT GIET 9137 (Our Common
Future) YSe% ¥ &% % &9 § YHINIG g5 | 39 HeH § Th 3N Agw@qyl
IATEE Tl €t S, S § 1992 7 ARG geel sred g foRam T |

(36.1) Had WY fasm 1 37ef T2 IR | 1

(36.2) ‘Tier-21 ! for STaRISET HHIeH H weliehd fopam T 2 1

(36.3) TS o Tehmgl <l qRomH <Al ST <hIfT | 2x1=2
g a

(wrfrE v -nenfia gw) (2+3=5)

37. (a)

(b)

32/5/2-15

e T 9 % oI {@I-AHEA (I8 27 W), H A T & ‘A’ 3R
B & &9 § Afhd forar mn 3 | Ffafgd S i ggmar 9 3%
UgTHT 3T 39k Tal A8 39 gHIg @it 18 Warsh w fafEgn

A. 98 TIM S8 1920 H WRATE USGT HiUH 1 SAfewH g3 o1 | 1
B. 98 TJM gl MY 4 F9e M7 1T o7 | 1
WRA & 3 ToHifdes @Ames § Feafdaiea 0 @ 651 @7 &

3T sl & guIisy 3R 3k forfEw 3x1=3

(i) ddlSAl — g 3TEh hl @H
(i) AHET — AT ol I

(iii)  <PTSAT — TIE@ FHgT Io-

(iv) HHHaaRy — STaUsd™ 9y o
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36. Read the given source and answer the questions that follow :
Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Common Future. Another significant contribution was made at the Earth
Summit at Rio de Janeiro, Brazil in 1992.

(36.1) Explain the meaning of sustainable development. 1

(36.2) In which international conference was ‘Agenda-21’ accepted ? 1

(36.3) Explain any two outcomes of the Summit. 2x1=2
SECTION F

(Map Skill-Based Question) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where the session of Indian National Congress
was held in 1920. 1
B. The place where Gandhiji broke the salt law. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Bailadila — Iron ore Mines

(ii))  Namrup — Thermal Power Plant
(ii1) Kandla — Major Sea Port

(iv) Meenam Bakkam — International Airport
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Fig: HElciga Je7 Fac giearfaa ahenteal & 1o/ 397 &7 37 & €& |
&1
febg? qier F941 & I ForT | 5x1=5
(37.1) 3T UST &1 9W faARauw SEr 1927 #§ 9T T S &1 AfeayH

BT AT |

(37.2) 39 TIH o1 A T STgf MRS 3 T80 ST dqret o |

(37.3) 39 UsA 1 W fafay &t senfsen ¢ = 6l @H fera 2 |
(37.4) Torm T=T ® AmEy ardiE St 93 o g 2

(37.5) 38 UST ol A TIRGU S8l Hieen Tgg <+ eq 7 |

(37.6) 3T UST o1 A ARG S8 TR AU a7y 9o 2T 3 |
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1) Name the state where the session of Indian National Congress
was held in 1927.

(37.2) Name the place where Gandhiji broke the salt law.

(37.3)  Name the state where Bailadila iron ore mines are located.
(37.4) In which state is Namrup Thermal Power Plant located ?
(37.5) Name the state where Kandla sea port is located.

(37.6)  Name the state where Meenam Bakkam international airport is

located.
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Iy . 37 % foro For question no. 37
TN HIA T TSI Teh @T-HTres
T ey e Political Outline Map of India
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